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=1 e Bin (Rg) | 88 | Bl =<1 &% (M) £
© SEFEMA% 7,161,000
O HEN 10% 651,000
L IV 6,510,000( 6,513,200 cis
1, BRImE 2,340,000
aklL —Y i 12| #H
FERFEPFKE TR 12| #H 1,440,000
FEFE 8 i b2 /19 T 12| #H
PR AIEER 12| ©H 900,000
2, mARE 1,656,000
I ARfE Y 1] £ 1,080,000
75— MERK 1] £ 576,000
3, EfEE 360,000
ACiEAE 1] ® 360,000
4, RTH 708,000
TR 1] £ 708,000
5, BE&E 525,600
[EfRAEAR 1] £ 480,000
A —)LEeE 1] ® 45,600
6, TOA 923,600
[RBER 1] ® 228,000
Sak=ycy 208,400
RESERN 198,600
REEE 20,000
HEEE 268,600
=




=1 HHE BIn (RRig) | B2 | BE{u =<1 &% (M) £

I, &5 A 1,794,200

1, BRImE 468,000
Bkl —S i 12| #H

FERFEPFKE TR 12| #H 24,000 288,000
FEFE 8 i b2 /19 T 12| #H

PR RIEER 12| #H 15,000 180,000

2, ImRE 360,000

I AR 1] £ 216,000 216,000

75— LMERK 1] £ 144,000 144,000

3, EfEE 72,000

AClSH & 1] ® 72,000 72,000

4, RTH 141,600

TR 1] £ 141,600 141,600

5, BE&E 117,600

[ElFREERY 1l ® 96,000 96,000

A —)LEefE 1] ® 21,600 21,600

6, TOA 635,000

[RBER 1] ® 228,000 228,000

Eak=ycy 1] ® 208,400 208,400

RESIERL 1l =R 198,600 198,600
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o, AL 1,072,800

1, BRImE 468,000
Bkl —S i 12| #H

FERFEPFKE TR 12| #H 24,000 288,000
FEFE 8 i b2 /19 T 12| #H

PR RIEER 12| #H 15,000 180,000

2, mARE 288,000

I AR 1] £ 216,000 216,000

75— LMERK 1] £ 72,000 72,000

3, EfEE 72,000

ACiEAE 1] ® 72,000 72,000

4, RTH 141,600

TR 1] £ 141,600 141,600

5, BE&E 103,200

[EIfRERR 1] £ 96,000 96,000

A —)LEefE 1] ® 7,200 7,200

6, TOA 0

EHEE 1] ® 0
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m, KIIEES A 1,142,400

1, BRImE 468,000
Bkl —S i 12| #H

FERFEPFKE TR 12| #H 24,000 288,000
FEFE 8 i b2 /19 T 12| #H

PR RIEER 12| #H 15,000 180,000

2, mARE 360,000

I AR 1] £ 216,000 216,000

75— LMERK 1] £ 144,000 144,000

3, EfEE 72,000

ACiEAE 1] ® 72,000 72,000

4, RTH 141,600

TR 1] £ 141,600 141,600

5, BE&E 100,800

[EIfRERR 1] £ 96,000 96,000

A —)LEefE 1] ® 4,800 4,800

6, TOA 0

EHEE 1] ® 0
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N, BIISY A 1,070,400

1, BRImE 468,000
Bkl —S i 12| #H

FERFEPFKE TR 12| #H 24,000 288,000
FEFE 8 i b2 /19 T 12| #H

PR RIEER 12| #H 15,000 180,000

2, ImRE 288,000

I AR 1] £ 216,000 216,000

75— LMERK 1] £ 72,000 72,000

3, EfEE 72,000

ACiEAE 1] ® 72,000 72,000

4, RTH 141,600

TR 1] £ 141,600 141,600

5, BE&E 100,800

[EIfRERR 1] £ 96,000 96,000

A —)LEefE 1] ® 4,800 4,800

6, TOA 0

EHEE 1] ® 0
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vV, HESY A 1,144,800

1, BRImE 468,000
Bkl —S i 12| #H

FERFEPFKE TR 12| #H 24,000 288,000
FEFE 8 i b2 /19 T 12| #H

PR RIEER 12| #H 15,000 180,000

2, ImRE 360,000

I AR 1] £ 216,000 216,000

75— LMERK 1] £ 144,000 144,000

3, EfEE 72,000

ACiEAE 1] ® 72,000 72,000

4, RTH 141,600

TR 1] £ 141,600 141,600

5, BE&E 103,200

[EIfRERR 1] £ 96,000 96,000

A —)LEefE 1] ® 7,200 7,200

6, TOA 0

EHEE 1] ® 0
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